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Q. 1 Answer the following by selecting correct choice from the options. (10}

1) The curve v = ;2; is symmetric about

a. X-axis b. Y-axis ¢. Origin d. none
2) The curve of y = EET)E&SS has branches.
a. 1 b.2 c.3 d. 4
3) Horizontal asymptote for the curve xy — 3y — 9 = 0Ois
cay=290 ' b.x=0 cy=1 d. none
4) The curve of r = sin38@ has loops.
a.1 b.2 c.3 d.6

5) r = tan@ secl represents a

a. line bh. parabola c. ellipse d. circle
6) The curve of r = cos30 is symmetric about

a. polar axis b. normat axis c. pole d. all of these
7} Polar equation of horizontal line below the pole is

a.p =rcosO b.p = rsinf c.p = —rsind d.p = rcos8

8} If eccentricity e < 1 then conicis

a. hyperbola b. parabola c. ellipse “d. circle
QG zz=
a. z% b. |z|? c. |z| d.z
10} The modulus of 1 + i is
a.\V2 b.1 c.V3 d. none
Q.2 Do as directed, : ' ' ' - ( g)

1) True OR False: y = x* —3x2 + 2x is symmetric about X-axis.

2) . True,;OR False: Parametric equation of ellipse is x = a secd,y = b tan8.

3) Fillin the blank: r(2cos8 + 3sinf) = 4 represents ___(line/parabola}.
4) Fill inthe blank: r = 2 + 2 cos@ is equation of (Rose curve/Limacon)
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5) True OR False: Polar equation of horizontal fine through the point (2,--90") is
2 = —rsind.
6} True OR False: The centre of the circle r = 6 sing is (3,;—3).
7) The value of ~} =__ (~i/D).
8) Fillin the blank: & = (cis(0y — 05)/cis(8, + 6,)).
Q. 3 Answer any TEN. ' (20)
1} Find extent of the curve x = 2t2,y =3tER
2} Find the parametric equation of circle.
3) Write down the equation of tangent to the curve at point P(xy, y1).
4) " Express the point (3,~45) in the Cartesian form.
5) Express the point (\/§, 1) in polar form.
6) Define: Closeness of the curve.
7) Find the radius of the circle r = 3sind.
8) Obtain the polar equation of the vertical line passing through the point (3,180").
9) Identify the conic given by r = e

1+2cos6”

10} Express ﬁ: in the form of a + ib.

11) Write four fourth root of 1.

12) Find the real part of the complex number (2 + 3i)(3 — 20).

Q.4 Attempt any FOUR (32)
2.
1} Discuss symmetry, intercepts, asymptotes and sign of the curve y = ;mi.
2} Find tangent parallef to axes for the curve x = cos?0,y = 2 sinf.
3) Sketch the curve r = 2 + 3 cosé.
4} Sketch the curve r = sin36.
5) ‘Obtain equation of conic , where the directrix is perpendicular to the polar axis.
6) Identify the curve r = 1 4 2 cos@ and its reciprocal curve.
7) State and prove De-Moivre’s theorem. .
8) Solve theequation x* — x4+ x? ~x +1 = 0.
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a. 11ou {asey uaie 531 waid guil, (10}
)ds y == ¥ ofl 2101 AlHd .
a. X-w48 b. Y- 218 c. Gay {olg d. A Y o1l
2)ds y = m% llu(ull B, |
a. i b.2 _ c.3 d. 4
4y 15 xy — 3y — 9 = 0 ofl UH[E(dey el 2els g.
a.y=0 b.x =10 cy=1 d. W5 <l gl
NSy =sin3dA _ 9ud
“al b.2 c.3 | d. 6
5)d%r = tand sech W) ____fE.Q.[ﬁ &,
a. Jull h. UdE c. Bude d.dgu
6) 4% 1 = cos3d W ol vilogorigs A0 ..
a. gclial wey h. ALH I 48 c. Yl d. b1 o
7) el of) o2 of] otiog mEfdoy it o yella wilsral 8.
a. p = rcos@ b.p = rsinf c.p = —rsin d.p = rcosf
8) %) Gdegdle < 1€ dl ds 9.
a. »ifdday b URAEY c. Guagy d.dgo
8 zz
a. z? b. |22 c. {z| d. z
10) W2 vl 1+ <l Hidlis 2}
a.VZ . b1 = .3 d. W of&l
a.2 (sifatet 3ot 30 - : e g)

1) True OR False: as y=x3 - 352 + 22 9] w18 ofl 2101 AT @
2} True OR False: GUddy <] Yue w1528 x = a sech,y = btand 8. .
3y wie) eout YRl +(2cos6 + 3sind) = 4 ¢o1ld Bizeyy urae).
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wlIe]l Rl Y2l 7 =2+ 2 coso o A5 D (Rose curve-Fale A
[Limacon-Lg121)

True OR False: [0dg (2,—-907) i ol uar adl yufaldey il o ydiy wilswa

2= —rsind 8.
True OR False: Clc:LrC’l ¥ = 6 sinf o} _:\‘jag’.{ (3, g—) 8.

vudl ety L= (-i/i).

uitef] 2021t y3): gg— = (cis(B; — 0;)/cis(8; + 6,)).
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